4444444

00000

3333333

00000

= i B
by Hlg L=
| wm[TIE|TE
w _\ﬁ b
= W_;W W
hol m%m .,_.Ed,‘ﬂm
bt g___a___*q_x_uT 3
M EW+mW_m%
+ oK Eamﬂ e
il g £
5 Le
= | o |B|Z|%H
PS H mmﬁm

8888888

00000

mwmmiﬁm mwmmiﬁm mwmmiﬁg
MEE ﬁw WEE ﬁw WEE =gl s
| H | 2| 2| 2] k) 1= He|H | 2| 2| 4 o) 1= He|H | B 2| 4 o) 2

$=1:100

#

$§=1:2,500

REFmEE

DL=95. 00

/4 / 2 | L= b f\ c.tm‘m A/ \
/ - ==\ \ X 3! ’,\,
\ .,%Ww%

&“mmwa

A

EFE $=1:250

95.00

DL=

DL=95. 00

FEaEER T 1=20.0m




*E&&ﬁﬁ $=1:50 :I‘JaU"‘f D‘V?Eﬁ;‘ﬁ §=1:20

00
avy)-t
30 (18-8-40BB)
o
8] 54
. L | S
g l
& KiEE/A T BLavsy—k 0‘ 440 0l
18-8-40 (BB)
VUG40 1EmT/3m2 640
% i B LE 44
300 x 300 x 10
B . .
‘ %’—ggfjo )=+ Dy B 10. Om2 )
HEEaLsy—k i & % Bif H 2 + i
i : E*EHR % L/ $=1:50
; hY-} 18-8-408B m3 0.7
g m2 3.00
g Lavhy-+ 18-8-408B m3 0.64 200
BLE # m2 2.00
8
8 B/ =
|
=
EXY
E Eﬁ $=1:50
5000
FRITRENN
3000 2000 RKimdy 7 - §=1:20
™ &
) =) whY-+
S e S 340 (18-8-25BB)
o [3ed (Yo}
= + TEY I
B i i 1000 o
=10m -
B S e ]
kgt ;
HmAaITOvs : Kimavhy-+ 10. Om4 Y
- 2 i & £ W w o B | W 8
54 by 1o &)
maInyy (1 :% il wh-} 18-8-25B8 m3 0.17
| ‘ B m2 1.00
— |
- - 4 _ _ _] oot XEHaLY U— b HIREIVs U— Ty SBSEICET,
i
F#ET - £BT  L=5.00m Boq

XARABAIYAXERTET D
11-4 KEEH

o5 5 [TRBFE BESE %08
SN SRUNERUEARTE

wIEme| Eh EEE=ZR R

REOES | RENER, BRN, TR, R LERFAR

% R| mx [mmss| 23

BIER| 2 BHKES BEEBEHSR




T | K

$=1:1000

kiR

0.30

0.70

XELDS
A=1. 0m2

kiR

tTo5
A=0. 15m2

5

8 m

§=1:50
o
N
- °
[ee)
+
Bk
y,. o
S —_— <
—_ ) +
— T -
3l o — =
~ 8 . =
< s XEE05 \ﬁ\
- 8 TS5 — 3
= — e
V V
8.00 4.00
12.00
BN
Wr m
§=1:25
Bs%iR + 8.0 m\ u
' % : ' |
t05 \to>
L 2
. A=0. 15m2 A=0. 15m2
KBED5 (EE) 221D
A=T. 0m2 =1
AE+DS5 (HE) KELI0S
A=1. Om2 A=2. 3m2

XARABAIYAXERTET D

11-4 KER#

I$4%

THBEE RELE %25
EIZIEE S 2D A

BIERA

B EBEZZR N

HAOES

& I

g R

® = ‘E%%‘ 3/3

MBI

M ORWKES BREREBREBHER




